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3.1 OO0 obobooboodoobogogdod

3.1.1 [

195100 Kuhn-TuckerO OO OO O0OO0OOOOOOOOOOO
Oo0000bo00o00booboobobooobtoboboobodnd
ODO0o00ooooboooboobdgooooboobooddn
OoO0O0OO0o000agn
OoO00booboobobobobobobbobbbodoboodogd
OOo00bodobolsobobob oo ooooogn
OoO0ddoobooboboboobobbbbobobdobdodd
OO0o0o0o0ooodobbdodn
OO000000b0bo0o0boooobodobobibodobdbdn
ODoO0O00000bo00o0ooobodoogbobooobddon
O0000000000000000 000 Kuhn-Tucker D O
OO0b0o0oogbobooobobobobtobooboodgobbbd
OOo00bo0boOoboobobobboodbobdobbd

000 F(z1,29)0 Gz, 22) =0000000000000C
0000000F(21,22)000000G(z1,20) =000000
O0pzi+pmr,— I =0000000000000000O0000
F(xy,2o) 000 pra1+poro 0 00 0G(21,20)=0000000
000000 x =+/—200000000000000000
OO0 00ooboboboboboobooobobobobobbbobhd
OO00000Oz00000000000000

00000 z,2:0 Gz, 20) =00000000000000O0
00 zo0 000000000000 O

Ty = ¢(x1)
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00000000
G(w1, ¢(x1)) =0

000000000 ¢000000000O000000000

000000000 Fo,2)0 Gz, 2) = 00000000

0000000000 F(r,¢(x) 000000000000

0000000000000000000000000000

00000 ,0000000000000000000

OF (z1,¢(x1)) OF L OF 99 _
0z Or;  0x9 01
00000000000O0o00
000G(z,¢(zy)=00000 000000000000
000000

0 (3.1)

0G  9G 0¢
+ =0
é%fl é%fzé%fl
Odoooooo o
9% _ _on
é%fl g%%
O000@B)YOOOo0o0o0ooDoooooooooooon
or G
0 0
oF = a0 (3.2)
8352 8352

Jo0ooododooooooddoooboodboooogn
Jooodoodgooooo

(3.2)0
or  OF
Oory _ Ox9
0G — oG

ory  Oxy
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Joooooooobodoo - Abdoooooooood

OF |06 _,
81’1 81’1
OF | \0G_,
(91’2 (91’2

oo oddooooooogn
Jotdooogdoboodoooodogogn
oot gboodoooognn
Joooodoooooooboodobgoobogooogn
Joodoboboboobbodbgbobotuoobotdobooboon
Joooboodgoooooooodod
Joooodoooooooogoodn

3.1.2 OO

HEN

oo oddogbooddgogooogdoggn
D0nU000000xO0OO00O00O0000 »nOUOO0OOOOO
Oo00o0o00DhOOooooooooooooooooooon
0000000000 y0OOOOoOooooooOoyooooO
0000000000000 0x-yO!'xyOOOOoooOoo'!o
Joodboodoogoodod

I hl(ﬂj‘)
X = 372 , h(x) = hgz(az'
T hon ()

000000000000 00000000000000000000O00D00O0000000000
gbooobogad
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OhOOOOOOOoo

ohy Ohy .. Oy
Jdr1 Oxo Oxy
ohy Ohy .. Ohy
Jdr1 Oxo Oxny
Ohy Ol .. Ohm
ory 0Oxy Oxn,

D%DDDD h, 0O0OOOOOOO

0000m=10000,22 0000000000000
iV

D0 000hO0O0O0O0ooon

0 1000000000000 gododdgoogod
Joooogogd

00

Jodgooooobobodgdgon

OO0 1 R'O0O00x*00000000D0DO0O f(x)Ox000
ooood

(30)(vx) [0 < |x =x7[ <0 — f(x") < f(x)]

Jooboooobooobootddl —obooogogod
Jooooogogoon

00000000 oooooonD foooooooo

OO0 1 R'O00x*000000000000D00O0O0O f(x)O
x*000000000000000 (x*)=00000

00]000000000 f(x)0x*000000000000
00000000 fKx(x)#£00000000000000

fx"+h) = f(x*) + fx(x) - h + o(h),



6 030 000000000000000000000
O0000o(h)O o)
o)
]hlyI—I}o |h|
000000 fo(x) 20000000 000000000 f(x):
h>000 fi(x)-h<00DODDODOOOODOO0ODOOOz O
OO000000000oooooooooon
00000000 A(xx)=000000000000000
OO0000000oo0ooooooooooooooooon
O0O000g
01

=0

f(xla Cl:Q) - CL’% - CL’%

00000000000 (0,0)0o000

fX:(07 0)/
HRERERE
hi #0 — f(hy,0) — £(0,0) = A3
hy #0 — f(0,hy) — f(0,0) = —h3
HRERERERE f(0,0)DDDDDDDD
OO0 2000 fx(x*):ODDDDDDDDX*DDDDDDDD

oo /ogoboododdogoboobodbooodogn
Jooooodoobooogd

Jobogooobobobboobooboggbooodoood

00 2 f4(x)=0000000000 0000000 "hfu(x)h
000000000000000f0x*0000000000
000
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00 |hO0OODOO000OO0OO
FOE ) = F(x) + folx) i fa(x B+ O(h) — 0

Oo00doodonn
o)
|h|—0 ‘h‘Q

000000000 f(x*) =000

=0

Fx* +h) = f(x) + %th Fex(xh 4+ O(h)

O0'hf(xhOODODOD00000x*00000000x*000
OO0 xtgodnd

fx7) < f(x)
Jo00doooooof0zs000000000000000

0 3duoogdoogoooonod

3.1.3 0OO0O0OO0

0000000000000 00000O0000000000
OO0000000000O0000b00b0ooOn

00000 mO000 ¢g(x), (0 =1,2,....m; m < n)0
O0ad

91(x)

g(x) = %$)=ﬂ

Im(%)
OO0 0000000 ooooooogon
00 1

rank xx = mMm
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Joooodoooododn

Ot 1

Mazximize f(x) (3.3)
subject to  g(x) =10 (3.4)

3.1.4 0O0O0OO0OO0OOOOOOOO

J0ooooooogoooooddn

00 300000 fodbooooobooooooouon
(%, ) = f(x) +"Ng(x)

00000 gdooooooonog
A =" Agy s )

00 400 p(x, \) 000 O0D00OO0OO (Lagrange function )0\
000000000 (Lagrange multiplier) 0 00 O

00)|00003.1.10000000000000000000
0o
y ="z, 29, Tuem), 2="(Tn_mi1,..,2,) D000 f(x)0
e(x)00000 f(y,z)0gly,z)00000000000000
000 (34)0

g(y,z) =0 (3.5)
Oooodn

0010000000000 x*00000x* = (y*2z900
oo
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OD00rank00000D0O00O0D0ODODODOOX* = (y" 2%
Joogd

det gyx # 0 (3.6)

OJo0doooooooooooooooooooytdod ¥
R —-R"O0OQOO0OO

9y, ¥(y) =0, z" =9y
0o0oooo

Fly)=fly,v(y))
00000000 yO0O0OO0O0DDO000O000000D0000
0000000000000 00000D0 100000000
0oo0o
Fy)O x*=(y,¢(y) 000000000000
Fy(y*) =0

000 F(y)DOODOOOOOO0O0O000O

fy(y (") + 5 0 (y)uy(y*) = 0. (3.7)
00002000g(y,¢(y)00000y0000000 Oy*0
oooooo

gy(Y (") + 8.y, v(y))Uy(y*) =0 (3.8)

0000000000 mx(n—m 000000000 mxm
O000mx(n—-m)00000000O
(3.6)000g,(y*,w(y") 0000000000000

Uy(y") = =gy, 0(y") ey (yh, 0(y")) (3.9)

000000 n-mO00D0000000000 mOOO0O00O0Omx(r-m) 00000000
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00003700000

Fr( 0(y") — Ly v (y)ely™, ¥(y) ey (v, v(y*) = 0

(3.10)
0D0000x* = (y5(y*)) 00000
fy(x7) = fo(x7)ga(x") 'gy(x") = 0 (3.11)
00000000000
p(x,A) = f(x) +'\g(x) (3.12)
000000000000000000000
Vi (x5, ) = fx(xF) + " Age(x*) =0 (3.13)

Yr(x*N) =g(x")=0
000 x* = (y,2z)000000

Py(x5A) = fy(x7) + " Agy(x") =
(X7, A) = folx7) +'Agu(x7) =

0000000000
A== fy(x)g(x)
000 (3400000000000
fy(X) = fa(x")ga(x") gy(x") = 0

Jooooboogobotobobooodbogdnd

3.1.5 0UOOOogg

oo ogboodoodoodn
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gboobooggoouooan

Oo0ooodddooooodon Oy odod ddon
Ulzr,y) = alogx + Flogy (3.14)

0000000°0000000000000000 pdg0O 0
oo /0odoooodoooogon

pr+qy=1 (3.15)
Odooodooodootdn

L(z,y,\) = alogz + Blogy + A (I — pr — qy) (3.16)
Ododoooooooooo

0L «
—— = LC_ =0
o Y
. = [ —pr—aqy=
B\ pr—qy =70
00o0o0oon
A:&;ﬁ (3.17)
000000 ooooon
ol
ﬂn%U:@;ﬁ% (3.18)
BI
M@%U:@;ﬁﬁ (3.19)

Joogod
Joooobooooodogbooddooooooggnn
Jooogo

30000u(z,y)=2%0000000000000000000000000000000
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OO s gboddoodbogooogdn
pr @y _p
I a+p3 I a+p
Joooodoodooooboogboooooooddgoon
Joodboboboboooobotddodgbootddoboogod
J0odooodooodboobododoodooodogd
0 (514)00000000000000000€0O 0O homothetic
000000000oooooooooood

(3.20)

00 6 (3.17) 000000000000 OOOOODOOO0O
O0000o0ooogobooonbdd
000p,q,/000000000000000 (3.18)(3.19)0
0000 (3.14)000000000000000
al 61
v(p,q,]):&logm+ﬁlogm
0000000000000000 (p,q, )0000000OC
Oo000o00oooogoooooobooooboorgoooog

Jooggg

(3.21)

v a+f
or 1
0000 (@.17) 000000000

Joboooobogoodgdgobotdbogdboooogonod
Joooobodgoooodoodoogoddooogn
Jodoboobooodobooboodogoooboood

(3.22)

3.1.6 O0OOO0OOUooobOo

Jooodogdoooobo oo doodgod
Joogboodbooooboodgodooooogogdod

4homothetic 0 0000000000000 DOO0DDOODOOOOOOOOOODOOOOODOOO
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Joooodoooooooodooodoboodooogn
Jobodooobobodoboodbooboogon

maximize f(x) subject to b = g(x) (3.23)

00 70000000000000000000000000
0000000000000 000bLODOOOOOOOOOO
0000D0b=000000000000000000000
00000000000000g(x)=b—gx)000000
0000000000000

ooooooo
b = g(x)
oooooooood

db = gy (x)dx (3.24)

Jo0ooooddb0d0nooooooooooooog
Jo0o0oodooobooooooound&xddooo
Jooodboboboboododobobodotmbdboooong
Jodddonddoooooooooooobod dz0 00O
Jooooodoooogdn

991 991 .. 9g¢1

db1 Oxry Oxo Oxn, dwl
992 992 .. 992

dbg _ Oxry Oxo Oxn dQZQ
99m  Ogm .. Ogm

dbm Ox1 Ox9 Oxnp dw”

000000000000000gx) =b-—gx)00000
0000000000000

fx(x) + tAgX(X> =0
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Joogoogodoobooooodgnd

fx(x) +A(—gx(x)) =0 (3:25)
Do00dodddbd b+dbD OO0 ODODOOOOOOOO
0000000000 fx)0O0oO0ooooooooooog
000000000000 00000df(x) 00000000
000000000000 00000000000 (32500
0o

fx(x) = "Agx(x) (3:26)

Joog
Jo0ooooooooodn dz0doonooogn

df (x) = fx(x)dx (3.27)
0000000000000 (3260000000
df (x) = "\gx(x)dx (3.28)

0o0oo
00000001xmO0O00mxn000nx100000
0000000000000000000000 (324000
000

df (x) = ‘Adb
00000000 0bO b+db0DO0O0DO0D0OO0ODOO
0oDO00oo0O00

OO0 8 X000 Ooooooooooobooo

0000db="%0,...,0,db,0,...,000 000000000k
0000000000000000

df (X) = )\kdbk
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goodnd
df (x)
dby,
Jo0o0oooddoooooooog ek0noooE0nDOn

Jooooooogooooodoodbodoobooboodgd
Joodgdoobotdboobobodbooddoobobogogon
Jobooobobotdbotdobboodoboobobodgobggon
Jooooboobooddoboboodooooodogogn
Joooooooggn

= A\

00 900000000000 O0D0000 )0 OOO
Jodgoodooooggn
0
by,
Joooooodogdn

(x*(b)) = A

o i1o00o00odooogoogoon
e U DOOODOUOOOODONO
e LI ITJDODO

oo ooboodgodgoggoboodoooogdod
Do tdoooooogdod
oo odooooooobooodoboogn
Jooooogd

00 11 000dboodddboodooddn
Xy ={x e R"| g(x) <b}
OOb+db000O0OOOOOO
Xpiap = {x € R" | g(x) < b+ db}
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HREREEERERERE
Xpb C Xpyab

0000000000000 00000000000bOO0O
0000000000000000000g0000D0D0D0O
0000000000 0000000000000000000
gx)0000]—pr—qyDO0O000pr+qy— 100000
000o0oo0o

3.1.7 0U0O0ooooon

000000000 QuoonooooKooon
JoNOoOoooooodop,,wd 000000000000
ooodoodgoogooooboognod

Q=VK++VN (3.29)

Jodoooobbooooooooooboboooooooog
Joon

maximize —rk —wN subject to @ = VK +VN

Jododoobooddogobodgobodoooooogon
Jooooodgoooboboobog

L(K7N7>‘>:_TK—IUN+)\(\/E+\/N—Q)

Jo0oood K,N A 0000000000 00000004
Joougooon

oL 1
L L IAKTV2 2
%K Tty
I |
O w4 IANT2 2
ON Wt

O VE+VN Q=0
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J0O0O0O0O0OKY2 N22000000

2wrQ)
- w+r
000000000000 00000000000000o0o
0000000000000 oo0O0o0oooooooooog
oooooooo

000

A

maximize pQ) —rk —wN subject to @ = VK ++VN

Jooodouoooogoodobooggoooggd
Jooooboogdon

p—A=0

Jobodgoboooodboobooboboboboobgogoogn
Joobododooogobooddgogogn



